This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 4 - East Sutherland and Edderton

3,561

3

891

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Harry CHRISTIAN	Scottish Libertarian Party	36
Richard Gordon GALE	Scottish Liberal Democrats	699
George GUNN		309
Deirdre MACKAY	Scottish Labour Party	755
Jim MCGILLIVRAY	Independent	597
Graham PHILLIPS	Scottish National Party (SNP)	648
Eva SHORT	Scottish Conservative and Unionist	517
		Total 3 561

Total 3,561

This report contains the transfers results.

Stage 2 - Exclusion of Harry CHRISTIAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Richard Gordon GALE	16	1.00000	16.00000
Transfer to George GUNN	2	1.00000	2.00000
Transfer to Deirdre MACKAY	2	1.00000	2.00000
Transfer to Jim MCGILLIVRAY	3	1.00000	3.00000
Transfer to Graham PHILLIPS	5	1.00000	5.00000
Transfer to Eva SHORT	1	1.00000	1.00000
Value of non-transferable ballot papers			7.00000
	Total		36.00000

This report contains the transfers results.

Stage 3 - Exclusion of George GUNN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Harry CHRISTIAN	0	0.00000	0.00000
Transfer to Richard Gordon GALE	58	1.00000	58.00000
Transfer to Deirdre MACKAY	74	1.00000	74.00000
Transfer to Jim MCGILLIVRAY	49	1.00000	49.00000
Transfer to Graham PHILLIPS	58	1.00000	58.00000
Transfer to Eva SHORT	14	1.00000	14.00000
Value of non-transferable ballot papers			58.00000
	Total		311.00000

This report contains the transfers results.

Stage 4 - Exclusion of Eva SHORT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Harry CHRISTIAN	0	0.00000	0.00000
Transfer to Richard Gordon GALE	116	1.00000	116.00000
Transfer to George GUNN	0	0.00000	0.00000
Transfer to Deirdre MACKAY	115	1.00000	115.00000
Transfer to Jim MCGILLIVRAY	144	1.00000	144.00000
Transfer to Graham PHILLIPS	14	1.00000	14.00000
Value of non-transferable ballot papers			143.00000
	Total		532,00000

This report contains the transfers results.

Stage 5 - Surplus of Deirdre MACKAY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Harry CHRISTIAN	0	0.00000	0.00000
Transfer to Richard Gordon GALE	348	0.05813	20.22924
Transfer to George GUNN	0	0.00000	0.00000
Transfer to Deirdre MACKAY	0	0.00000	0.00000
Transfer to Jim MCGILLIVRAY	232	0.05813	13.48616
Transfer to Graham PHILLIPS	122	0.05813	7.09186
Transfer to Eva SHORT	0	0.00000	0.00000
Value of non-transferable ballot papers			14.19274
	Total		55.00000

This report contains the transfers results.

Stage 6 - Surplus of Richard Gordon GALE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Harry CHRISTIAN	0	0.00000	0.00000
Transfer to Richard Gordon GALE	0	0.00000	0.00000
Transfer to George GUNN	0	0.00000	0.00000
Transfer to Deirdre MACKAY	0	0.00000	0.00000
Transfer to Jim MCGILLIVRAY	119	0.00116	0.13804
Transfer to Jim MCGILLIVRAY	358	0.02004	7.17432
Transfer to Graham PHILLIPS	134	0.02004	2.68536
Transfer to Graham PHILLIPS	29	0.00116	0.03364
Transfer to Eva SHORT	0	0.00000	0.00000
Value of non-transferable ballot papers			8.19788
	Total		18.22924

This report contains the transfers results.

Stage 7 - Exclusion of Graham PHILLIPS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Harry CHRISTIAN	0	0.00000	0.00000
Transfer to Richard Gordon GALE	0	0.00000	0.00000
Transfer to George GUNN	0	0.00000	0.00000
Transfer to Deirdre MACKAY	0	0.00000	0.00000
Transfer to Jim MCGILLIVRAY	11	0.00116	0.01276
Transfer to Jim MCGILLIVRAY	53	0.02004	1.06212
Transfer to Jim MCGILLIVRAY	52	0.05813	3.02276
Transfer to Jim MCGILLIVRAY	337	1.00000	337.00000
Transfer to Eva SHORT	0	0.00000	0.00000
Value of non-transferable ballot papers			393.71322
	Total		734.81086